PDF Compressor Free Version
duudid

¥ = |
ol pruzes |:l‘:| o 2L Ol Jab Coai b A dbiii 1o s o ol y:;x Osz -ty i 35 -
(OLT) (> LS 19 dmiio bis dlslra b gladlslrey b it luad) (Lig= ol s paa)
S=r)€\‘=}\ _r\“'»q:.:._)f—\"

(L‘Jlu-T)(U.m‘pJgL:S“fww-i;gjiub)t,hfvwfo,#dhdéhag H_MM}(EPUJ)«@)
v
PY+EX=V = Fy=—Fx+V = y:—r‘x+? —ely iy & -

it — ¥

\
y=ax+b—2" 3 y=—rx+b—»[“'] ~¥=—Y+b = b=—|
(P
(.h.n,ﬁ)(u..u};gl;s'|sfh&a-[}y}‘w;&gh}w_#mﬂu,.h':-r.\:uadmi)ﬂga_vw-l*féa)
131 o Cawday |y b5 alslas sl - s 400 5 - F
-1 ¥

—_——

—r -y

‘I
y:}"x+bLM=rX\"+b = b=-0
y=rx-o
¥ )
LY fw i 4bii 45 0uiS oISl b s |, 00k 03ls blE

(bawgia) (s QLS 10 ¥ anio . b dslas b slaalsles 5 b ciid Liab) (Lgz oo s pies)

-‘rh‘-if.}?—a

Yx-y)+y=¥  [rx—vy+y=¥  [rx—y=v _ [-Fxiry=-s
‘ = . .
x+¥(x+y)=1 x+ Px+Yy =\ Fx+ vy =1 EX+ Yy =1

by=—0 = y=—|
PX—y=V = 's+1=V = x=|

1+ (=1)=o
(igia) (g QIS N1 | i | b )0 0By - b gladlalan y b ol Juad) (Lgor ool sps pies)

fyv=ax+V-—-a = y:%x—l—. !'-;—a —Frdi 8 -F
a

i ——| = a==-¥ iy —=—| = a=-Y
‘J

Y=ty
S L S

(lgts) (s S 1o ¥ st Tasa J oo 3 b5 sl b gladsleny o pitis Jund) (Lpzr o s dse)



PDF Compressor Free Version

Bl behs )3 1) dbii - ¥ 4iy 35 -V

Dy=x+a => a=Y¥+a = o=t%
P)y=x—a = a=¥-a => a=|%
¥

y=x+a—¥ = a=v+a—t = a=avy
¥)y=x—a+¥ => a=r-a+V => a=r%

lgis) (a3 DS 12 dovbao b5 sl o> slatlslie y b - i Jasd) (g o s i)




